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00 DIPLOMA IN ELEMENTARY EDUCATION 

\L-) 

	 (D.EL.Ed.) 

Term-End Examination 

June, 2013 

BES-001 : UNDERSTANDING THE ELEMENTARY 
SCHOOL CHILD 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All the questions are compulsory. 

(ii) All questions carry equal zueightage. 

1. Answer the following question in about 

600 words : 

Describe difference between growth and 

development. Discuss common understanding 

about development with examples. 

OR 

Define the term 'play'. Discuss basic principles 

you would like to consider during organising play 

activities for children. 

2. Answer the following question in about 

600 words : 

Explain the concept of cognitive development. 

Discuss the role of language in cognition with 

examples. 

OR 
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Describe the commonalities and diversities of 

childhood. Discuss the profile of a child in a 

conflict situation. 

	

3. 	Answer any four of the following in about 

150 words : 

(a) Discuss the relevance of peer in the social 

development of a child. 

(b) Describe the importance of understanding 

of cognitive development for an elementary 

school teacher. 

(c) Gender is a social construct. Justify. 

(d) Write a note on poverty and children. 

(e) Discuss various types of parent-child 

relationship. 

(f) Describe and differentiate solitary and 

imaginative plays with examples. 

	

4. 	Answer the following question in about 

600 words : 

Describe marginalisation, social exclusion and 

vulnerability. Discuss them in the context of 

children belonging to minorities and tribal 

communities. 
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